
 

According to Chargaff's rules: 

1. In a DNA molecule, the amount of adenine (A) equals the amount of 

thymine (T), and the amount of guanine (G) equals the amount of cytosine 

(C). 

2. The total percentage of purines (adenine and guanine) equals the total 

percentage of pyrimidines (thymine and cytosine) 

For species X: 

A = T = 32% 

A + T = 64% 

G + C = 100% - 64% = 36% 

G = C = 36% / 2 = 18% 

For species Y: 

A = T = 17% 

A + T = 34% 

G + C = 100% - 34% = 66% 

G = C = 66% / 2 = 33% 

The species with a higher guanine-cytosine (GC) content, bacteria Y, is more 

likely the thermophilic bacterium, as GC pairs are more stable under elevated 

temperatures. 

 


